
https://www.geekcert.com/h13-621.html
2024 Latest geekcert H13-621 PDF and VCE dumps Download

 

 

 

H13-621Q&As

HCNP-Storage-CUSN(Constructing Unifying Storage Network)

Pass Huawei H13-621 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/h13-621.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

 

 

H13-621 PDF Dumps | H13-621 Exam Questions | H13-621 Braindumps                                1 / 3

https://www.geekcert.com/h13-621.html
https://www.geekcert.com/h13-621.html
https://www.geekcert.com/h13-621.html


https://www.geekcert.com/h13-621.html
2024 Latest geekcert H13-621 PDF and VCE dumps Download

QUESTION 1

In the synchronous remote copy of storage array, if copy link break, will lead to the corresponding business interruption
in host. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

Which are the advantages of the optical switching topology relative to point-to-point and the arbitration ring? (Select 3
Answers) 

A. Multiple points can communicate at the same time 

B. each node failure is independent, single node failure will not affect the other nodes 

C. devices share the bandwidth 

D. support multiple transmission rate at the same time 

Correct Answer: ABC 

 

QUESTION 3

Below the write Cache strategy description about the array is not the right are: 

A. write-through cache suggest mirror mode, in order to improve data reliability 

B. Write Back cache can improve SAN performance 

C. Write Back cache no matter whether to adopt the mirror, random write performance almost no difference 

D. write-through cache, bottle neck area of SAN performance often on the disk 

Correct Answer: A 

 

QUESTION 4

What is the command to check WWN number of FC-HBA card in AIX system? 

A. lscfg-pvl fcsO 

B. hba 

C. lsdev -Cc adapter Igrep fcs 
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D. hbainfo 

Correct Answer: A 

 

QUESTION 5

LUN copy S5000 incremental must interrupt host operations of reading and writing for the data of S5000 source LUN 

A. True 

B. False 

Correct Answer: B 
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